Linearni rovnice

1) 2(x+1)-6(3-4x)=5-4x
2) 8—[2—(3-2x)]=8-5x
3) 8—3[6-2(5+x)]=2(6-5x)
4) %(10—3x)+2—2x:0
5) %(3+4x)—§—2x:0
o Ly 3,.5..3
37 47 6 2

7) 2x—3_2x+1:2

5 4
8) 3x—5_2x—7:_3

4 16
9) x—2_x+4:2—3x

315 5
10) 9x—%(5x—1):5x—§
11) —2x—%(2—x):3—§(3x+1)
12) 2_3x+5:5—2x

7 4

13)  (2-2x)(1+6x)—(5-12x)(2+x)=0
14)  (2x-1)(3-2x)=2-(1-2x)
15)  3(2x-4)-3(2-3x)=2-3x

16) 7-[2-(3-2x)]=8-5x
17) %(4—x)+2—3x=0
18) %(3—2x)+2x=§
19) éx—lirixzg

47 27 47 3
20) x+3_)c—5:2

4 3

21) 2(1—x):é(11—6x)

2 1
22 x——=1-—(5-3x
) ;=13(5-3%)
23) 3x+4:l_£
5 4 2
24) 2x+3_3x—5:2
4 3
25) x—6_2x+3:2—5x

4 8 2



Reseni
1)
2(x+1)—6(3—4x)=5-4x
2x+2-18+24x=5—4x
2x+24x+4x=5-2+18
30x =21 /:30

21
30
7
10

-3

2)
8—[2—(3—2x)|=8-5x
8—[2-3+2x]=8-5x
8—2+3-2x=8-5x
—2x+5x=8-8+2-3

X

3x=-17/:3
1
xX=-—=
3
p:{_l}
3
3)

8-3[6-2(5+x)]=2(6-5x)
8-3[6-10-2x]=12-10x
8—18+30+6x=12-10x
6x+10x=12-8+18-30
16x=-8 /:16

8

16
I

X=——

X =



4)
%(10—3x)+2—2x=0

§—@+2—2x:0 /-5
5 5

20— 6x+10-10x=0
~16x=-30 /:(~16)
15
X=—
8

-3

)

é-(3+4x)-—%—2x=0
4 3

L N N WAL
4 4 3
27+36x—-8-24x=0
12x=-19 /:12
__

12
p=1-2

12
6)
1 3 5 3
—X——x—-=x==
3 4 6 2
X 3x x_3 .,
3 4 6 2

4x—-9x—-10x=18
~15x =18 /:(-15)



7
2x—3_2x+1

5
4(2x-3)-5(2x+1)=40
8x—12-10x-5=40
—2x=57 /:(-2)

57
2

-9

8)

3x-5 2x-7
4 16
4(3x-5)-1-(2x-7)=—48
12x-20-2x+7 =-48
10x=-35 /:10

=2 /-20

X =

=-3/-16

9)
x—2_x+4 _2-3x
3 15 5

5(x—2)—l-(x+4)=3(2—3x)
5x-10—x—-4=6-9x
13x =20 /:13

20
==

13

-3

/-15



10)
9x—%(5x—1) =5x—§

9x—15—x+§:5x—§ /-8
2 2 8

T2x—60x+12=40x-5
—28x=-17 / :(—28)

17
xX=—

28

o

11)
—Qx—%@—x)=3—§@x+0

833 O 2,
4 4 33

—24x-18+9x=36—-24x-8
9x =46 /:9

_ 46

)

[

12)
2 —

X

3x+5 5-2x

7 4
56—4(3x+5):7(5—2x)
56—-12x—-20=35-14x
2x=-1

/-28




13)
(2—2x)(1+6x)—(5—12x)(2+x)=0

2+12x—2x—12x2—(10+5x—24x—12x2)20
2412x—2x—-12x*—=10=5x+24x+12x* =0
29x=8 /:29

8
X=—
29

-3

14)
(2x-1)(3-2x)=2—(1-2x)’
6x—4x" —3+2x=2—(1-4x+4x)

6x—4x> =3+2x=2—1+4x—4x>
4x=4 /:4

x=1

P={1}

15)
3(2x—4)—3(2—3x):2—3x
6x—12—-6+9x=2-3x
6x+9x+3x=2+12+6
18x=20 /:18

20

18

_ 10

)

3

16)
7-[2-(3-2x)]=8-5x
7-(2-3+2x)=8-5x
7-2+3-2x=8-5x
—2x+5x=8-T7+2-3
3x=0/:3

x=0

P=1{0j

X

X



17)
%(4—x)+2—3x=0

§—2+2—3x=0/-3
3 3

8—2x+6-9x=0
—llx:—l4/:(—ll)

_14
1

[

18)
%(3—2x)+2x=§

X

———+2x=z/-15
5 3

27 -18x+30x =10
12x=-17/:12

17
12

-

19)
gx—lx+§x:z/-l2
4 2 4 3

15x—-6x+9x =8
18x=8/:18

X =



20)
x+3 x-5

4 3
3(x+3)—4(x—5)=24
3x+9-4x+20=24
—x=24-9-20
—x=-5/-(-1)

x=5

P={5}

=2/-12

6—-6x=11-6x
—6x+6x=11-6
Ox=5

rovnice nema feseni
P=0

3x-2=3-5+3x
3x-3x=3-5+2
0x=0

rovnici vyhovuje
libovolné realné Cislo
P=R



23)
3x+4:l_£/'20

5 4 2
4(3x+4):5—10x
12x+16=5-10x
12x+10x=5-16
2x=-11/:22

11

22
1

X=-—=

X =

24)
2x+3_3x—5

4
3(2x+3)—4(3x—5) =24
6x+9-12x+20=24
~6x=24-9-20
~6x=-5/:(-6)

5

.

25)

x—6 2x+3 2-5x
4 8 2
2(x—6)—1-(2x+3)=4(2-5x)
2x-12-2x-3=8-20x

20x=8+12+3
20x=23/-20
23
X=—
20

P~ ol

=2/-12

/-8




